mini Crostic Puzzle 15
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A. Pocket bread -
91 47 80 10
B. CN , Toronto icon -

C. Eagles classic

D Oscar winner as John
" Bayley in Iris

Movie based on The Tin

E. Starby John W.
Cunningham

F. Workplace for Larry King

r @

Not welcome

Near Eastern "grease"

Add critical commentary

J. Boardwalk boardmate

K Navy construction

" engineer

L Exceeding what is
" appropriate

M. Impulse to roam

N. Dim

o Roy Orbison plaint, "

" the Lonely"

99 15 2 26 105 73 97 7 36 90 63 56
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48 18 42 66 95 87 53 25
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